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General Instructions :

Read the following instructions very carefully and strictly follow them :

) This question paper comprises four sections — A, B, C and D.
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This question paper carries 40 questions. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 comprises of 20 questions of one mark

each.

(iti) Section B — Question no. 21 to 26 comprises of 6 questions of two

marks each.

(iv)  Section C — Question no. 27 to 34 comprises of 8 questions of three

marks each.

v) Section D — Question no. 35 to 40 comprises of 6 questions of four

marks each.

(vi)  There is no overall choice in the question paper. However, an internal

choice has been prouvided in 2 questions of one mark, 2 questions of two

marks, 3 questions of three marks and 3 questions of four marks. You

have to attempt only one of the choices in such questions.

(vii) In addition to this, separate instructions are given with each section

and question, wherever necessary.

(viit) Use of calculators is not permitted.

Section - A

Question numbers 1 to 10 are multiple choice questions of 1 mark each.

Select the correct option.

1. HCF of two numbers is 27 and their LCM is 162. If one of the number is

54, then the other number is

(a) 36 ®) 35 © 9 @ 81

2. The cumulative frequency table is useful in determining

(a) Mean (b) Median
(¢) Mode (d) All of these
430/2/1. | 3
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3. 3HMd-1H, O I H1 4 & | PQ Th ST g a91 PT, P 9 U &9 @1 g, S PQ %
Y 50° HIHU T 8 | £ POQ HTAA R

(a) 130° (b) 90° © 100° ) 75° 1

T {
\/

SATHA-1
4. 23 ™
(a) UMk 3 | (b) i dET? |
(c) TR | (d) T EE R | 1

5. e T 9 3BT T | 3Teeh T 3feres Ueh ford 31 1 TIRiehdl & -

1

1 2 3
(@ - ®) 3 © 3 @ - 1

6. AGHZIG (a2 + 8 + k) o1 Ueh [h Qo HI HhA 8, AT K HIAF S :

(a) 3 b) -3 © + @ -+ 1
7. %wmmm%%wﬁ%mlﬁﬁm?
@) 2 ®) 4 © 5 @ 1 1

8. T i I ATt IgUE % I[Aeh1 ohi HATUehan T&ITR :
@) 1 M) 4 © 2 @ 3 1
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3. In Fig. 1, O is the centre of circle. PQ i1s a chord and PT is tangent at P
which makes an angle of 50° with PQ. £ POQ is

(a) 130° (b) 90° © 100° d) 75° 1

Figure-1
4. 243 is
(a) an integer (b) a rational number
(¢) anirrational number (d) a whole number 1

5. Two coins are tossed simultaneously. The probability of getting at most
one head is

1 1 2 3
(a) 1 (b) 3 (© 3 (d) 1 1

6. If one zero of the polynomial (3x2 + 8x + k) is the reciprocal of the other,
then value of k is

(a) 3 b) -3 © % @ —% 1

7. The decimal expansion of will terminate after how many places of

25 x 52

decimal ?

(a) 2 M) 4 © 5 @ 1 1

8. The maximum number of zeroes a cubic polynomial can have, is

() 1 M) 4 © 2 @ 3 1
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9. Teg12,5) Hymfegagiiz:

(a) 12 ®) 5 (© 13 () 169 1

10.  3fQ Uh I i 5 (3, 5) & T Teh AT o 3 [6ig (4, 7) FUT(2, y) &, Ay HIAHA S :

(a) 3 b) -3 (© 7 d) 4 1
WAl 11 8 15 # o wm i gfd i -
11. e foig o feigati (4, 0) 7T (0, 6) ¥ &+ B39 1 &% B . 1
A
fegati AQ1, 3) @UT B4, 6) ! fie a1t W@r@e &1 2 : 1 ¥ fawiia s art fg %
ﬁé’gﬂﬁﬁé— 1
12. Tgamd aHem x2 — x — 6 = 0 % gai % 91 gl 1
13. af\asine:%%,aﬁtaneaﬂm 21 1
14. (tan260° + sin245° HTHAH @ 1

15. <1 wusd Bt & T1d st § 3 4 %1 9 7, a1 37 S & &% 1 3191

2 1
T3 16 T 20 o I SIS :
16. (cos 48° — sin 42°) T HM 1A HITTT | 1
Y
O 319 hITT : (ban 23°) x (tan 67°) 1
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9. The distance of the point (-12, 5) from the origin is
(a) 12 (b) 5 (¢ 13 (d) 169 1

10. If the centre of a circle is (3, 5) and end points of a diameter are (4, 7) and
(2,y), then the value of y is

(@) 3 (b) -3 (© 7 d 4 1

Question numbers 11 to 15, fill in the blanks
11. The area of triangle formed with the origin and the points (4, 0) and (0, 6)

1s . 1
OR
The co-ordinate of the point dividing the line segment joining the points
A(1, 3) and B(4, 6) in the ratio 2 : 1 1s i 1
12. Value of the roots of the quadratic equation, 2 —x — 6 =0 are ) 1
13. Ifsin©= % , then the value of tan 0 is . 1
14. The value of (tan260° + sin245°) is , 1

15. The corresponding sides of two similar triangles are in the ratio 3 : 4, then

the ratios of the area of triangles is ) 1

Question numbers 16 to 20, answer the following :

16. Find the value of (cos 48° — sin 42°). 1
OR
Evaluate : (tan 23°) x (tan 67°) 1

430/2/1. | 7 P.T.O.
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17. Fmpfa-2 o, 3 gebia o, et g O & aort Fmeht s 7 &t e 3.5 et €, o6

PQ @ AB 1= # 1 3fe £ POQ = 30° 2, 91 STl YT T SFhet 71 BT | 1

18. 3T=3! WohR | %l 15 52 Ui areil arel <hl Tl § | A1Go5AT Th Il (-6hTell 71 | Th
ST FTGITE 3TH h ATkl FATE ? 1

19. 25 HI Te Teh HIG Teh 9o oh OFER deh &l Tgad! &, Sl 9 | 24 H &l Sa5 W E |

HIE % TG YT HaH o SR o sii= 1 il T T | 1
20. AE3k — 2, 4k — 6 TUTk + 2 Teh GHIAL Il o Shid T¢ &, I k 1 HH F1d Iy | 1
e -

9 9T 21 9 26 G Tcdeh Y oh 2 37 3 |

21. U A H 10 H 3419 99T 25 GTeAl & | Teh 3419 I ohl TIehd1 18 7 2
22. o o= ATet Uk TR H, 0 U hH 3l IS Bl sh1 TTehal JT1d shifg | 2
Fa

21U T T1Y IDTeA MY | T 31 g1kt sira SHif
() I ITE Y T 3T 6T
(i) < G T A 9 T Jfeeh 8 i 2
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17. In figure-2 PQ and AB are two arcs of concentric circles of radii 7 em and

3.5 em resp., with centre O. If £ POQ = 30°, then find the area of shaded
region. 1

18. A card is drawn at random from a well shuffled deck of 52 playing cards.
What is the probability of getting a black king ? 1

19. A ladder 25 m long just reaches the top of a building 24 m high from the
ground. What is the distance of the foot of ladder from the base of the
building ? 1

20. If3k -2, 4k — 6 and k + 2 are three consecutive terms of A.P., then find the
value of k. 1

Section - B

Question numbers 21 to 26 carry 2 marks each.

21. In a lottery, there are 10 prizes and 25 blanks. What is the probability of
getting a prize ? 2

22. In a family of three children, find the probability of having at least two
boys. 2

OR
Two dice are tossed simultaneously. Find the probability of getting
(1) an even number on both dice.

(11) the sum of two numbers more than 9. 2

430/2/1. | 9 P.T.O.
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BIE Il o1 TIR HAT 2 | 2
24. Tagehitaufes : 1, + 1« =2 sec?0 2
1+sin® 1-sin6
FHUAT
mm% 5~ = cos 0 —sin“0 2
1+tan“0

25. HIC HIslehel o Teh U(eT sh! (a1 35 Wl 2 | 11 1 ohl g o ot | 8T i fehe =efeht
T AT & ? 2

26. (202 —x+ 3) BT (2 — x) T 9F ST | TR qUT ITH o fafagu | 2

@|UE -1
U9 ST 27 U 34 dh T I3 3 37k & |

27. ¢ o TUT B TEIG f(x) = BaZ — T + 1%{5&%%,&1(%+EJ T I T HINTT | 3
ol
28. 7 B! TS 1 Ueh T@NES FIT qUT3H 2 : 3 % I § Tt i | 3
JrerE
4 Tt T2 b1 Ueh ol ST quT 39eh b W 7 9t bl gl T fRrd ueh W feig W gd W
31 o9t g it | 3

29. TH Ul e arelt g3 21 It Tt B | 35k gy 20 fie A d & &1 Sawa aun
FHeh! 1ok G T %1 15 gl F1d HIY | 3

30. Aex=3sinO0+4cosOAITy=3cos0—4sin 08, difaghiuira+y2=25 3
era
?Jflq'sin 0 +sinZ0 =1 %, ?hﬁl@ﬁﬁﬂlﬁﬁ cos20 + cos*0 = 1. 3

430/2/1. 10
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30.
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Two concentric circles are of radii 5 em and 3 em. Find the length of the
chord of larger circle which touches the smaller circle.

1 1

Prove that : - + - = 2 sec?0
1+sinf® 1-sinB
OR
1—tan®0 :
Prove that : % = cos20 —sin?0
1+tan“0
The wheel of a motorcycle is of radius 35 em. How many revolutions are

required to travel a distance of 11 m ?
Divide (252 — x + 3) by (2 — x) and write the quotient and the remainder.

Section - C

Question numbers 27 to 34 carry 3 marks each.

If oo and B are the zeroes of the polynomial f(x) =5x% — 7Tx + 1, then find the
value of (% + EJ )

(04

Draw a line segment of length 7 em and divide it in the ratio 2 : 3.
OR

Draw a circle of radius 4 em and construct the pair of tangents to the
circle from an external point, which is at a distance of 7 em from its
centre.

The minute hand of a clock is 21 em long. Calculate the area swept by it
and the distance travelled by its tip in 20 minutes.

If x=3sin 0 +4 cos 6 and y =3 cos 8 — 4 sin 8 then prove that x2 + y2 = 25.
OR

If sin 6 + sin?0 = 1; then prove that cos20 + cos0 = 1.

.430/2/1. 11 P.T.O.
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31 fag i i B st e 2 3

HYA

JfFeTs TSI 6 TR H 272 T91 1032 1 Fgad qa=des (HCTF) d i | 3

32. Th HEd ABCD  3=: & H T foig P @ 2, o firg hifsg fob PAZ + PC?2 = PB? +
PD? 3

33. Tepdlt e #, =R = feigati A, B, C 3R D W o3 g &, S feh 31pld-3 o guiian a2
=T 3N et a1 % et A § 3N Fw fire a% <@n % ae, 5T, whedl ¥ gl 2,
I qH &1 dredt 8 foh ABCD U & 2 77 Siel 399 HEHd & 8 | gl 93 o
Tch, SASY foh T B AT 2 ? 3

10 T —
8 : _ i T ‘
g e 3 50 N R s
Errt o
2 £ B e
1 DS
0

34. 3ATeNd gRI & Shifau

2x—3y+13=0;3x—-2y+12=0 3

4307211 12



www.cbseboardonline.com

[m]::[=]
Zhs

31. Prove that 43 is an irrational number. 3
OR
Using FEuclid’s algorithm, find the HCF of 272 and 1032. 3
32. In a rectangle ABCD, P is any interior point. Then prove that PAZ + PCZ =
PB2 + PDZ 3
33. In a classroom, 4 friends are seated at the points A, B, C and D as shown in
Fig. 3. Champa and Chameli walk into the class and after observing for a
few minutes Champa asks Chameli, “Don’t you think ABCD is a square ?”
Chameli disagrees. Using distance formula, find which of them is correct. 3
10 i
8 B e T A
7 — ‘.'BFQ%"?
E 5 ——1 |
T oy
i3 S kgt Ll
3 . i -
ol 1 | :
1 23 4 5 6 7 8 9 10
Columns
Figure-3
34. Solve graphically :
2¢—3y +13=0;3x -2y +12=0 3

.430/2/1.] 13 P.T.O.
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T HEAT 35 | 40 Teh YIH T h 4 37 ¢ |
35. QISHURTA gIqUIiehi b1 TUHHeT 306 &, I qUTieh 1A it | 4
36. T HHI A4S 1 1791 7¢ 30 8 4 UG GIA 9 5 314 2 | Al 39 WHick 41 1 1147
g 43 B, T $HRT n3T U 1A HIFIT | 4
JrerE
A A 3,5, 7. 9, ... % foha UG T IWTHS 120 BFTT ? 4
37. U A<l Ueh AR T @I Uoh SATa, G o GO TR T TS Teh I8 oh TIRGR I 313
10 60° T & | e o8 Tl & 30 i @Il &, Al 98 I~13 10 30° U1l 8 | F& <hl
TS FUTAE Y =HeE 7@ HIT | [+3 = 1.732 ifsm) 4
38. g i fsh g1 THET Sl & &%ell o1 STUTA Ikl TTd 13T o ST o ST
A B2 | 4
Frer
g HITST fep wep e forg ¥ o S 71 el W@ o1 wisTgal sisk gidi & | 4
39. 9% 15 HHl U1 SH 16 Tl 9Tel Teh 31 s | ¥ 36 SaT3 3R $HI <A™ 91l Th
IFERR @I h1e Tl ST 8 | 29 = 319 o1 F0 TS5 &A%e 14 HIg | (3T
IR nh TGl H & GINT 1) 4
e
Toh W o1 $AT5 10 THI & | 36 I 1 3Th| HaTs o S8 H 8oL IId ¢ Teh adf I
1 WFTT § 1T 1T &, Safeh del 3o oh STTIT o THIAL & | GH1 WFTT o STRGHT o ST
1 I | 4
40. 9= IS 52 1 95t 36 2, A1 W SRERAT () F1d I ;
= 0—10 [ 10-20 | 20-30 | 30 —40 | 40 =50 | 50 —60 | 60 —70
FRERAT 8 10 f 16 12 6 7 4
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Section - D
Question numbers 35 to 40 carry 4 marks each.

The product of two consecutive positive integers is 306. Find the integers.

The 17t term of an A.P. is 5 more than twice its 8th term. If 11t term of
A P.is 43; then find its n'? term.

OR
How many terms of A.P. 3,5, 7,9, ... must be taken to get the sum 120 ?

A person standing on the bank of a river observes that the angle of
elevation of the top of a tree standing on opposite bank is 60°. When he
moves 30 m away from the bank, he finds the angle of elevation to be 30°.

Find the height of the tree and width of the river. [Take N 1.732]

Prove that the ratio of the areas of two similar triangles is equal to the
ratio of the squares of their corresponding sides.

OR

Prove that the length of tangents drawn from an external point to a circle
are equal.

From a solid cylinder whose height is 15 em and the diameter is 16 em, a
conical cavity of the same height and same diameter is hollowed out. Find
the total surface area of remaining solid. (Give your answer in terms of m)

OR

The height of a cone is 10 em. The cone is divided into two parts using a
plane parallel to its base at the middle of its height. Find the ratio of the
volumes of the two parts.

The mode of the following frequency distribution is 36. Find the missing
frequency (f).

Class 0—-10{10—-20|20 — 30|30 — 40|40 — 50|50 — 60|60 — 70

Frequency 8 10 f 16 12 6 7

430/2/1. 15
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